Mental Math 

 (Compensation Strategies)

Grade 2

Addition and Subtraction Facts

Note:  This strategy for addition involves changing one number to a ten; carrying out the addition and then adjusting the answer to compensate for the original change.  This strategy is useful when one of the numbers ends in 8 or 9.

For example:  For 7 plus 9, think: 7 plus 10 is 17, but I added one too many; so, I subtract one from 17 to get 16 or 7 + 9 = 7 +10) – 1 = 16.

Grade 3

Compensation (Review)

Note: This strategy for addition involves changing one number to a ten; carrying out the addition and then adjusting the answer to compensate for the original change.

For example:  For 7 plus 9 think: 7 plus 10 is 17, but I added one too many; so I subtract one from 17 to get 16 or 7 + 9 = (7 + 10) – 1 = 16.

Grade 4

Addition Compensation

Note: This strategy for addition involves changing one number to a ten or hundred; carrying out the addition and then adjusting the answer to compensate for the original change.

For example:  For 52 plus 39, think, 52 plus 40 is 92, but I added 1 too many to take me to the next 10 (compensate – 39 to 40), so I subtract one from my answer, 92 to get 91.

Subtraction Compensation (Review)

Note:  This strategy for subtraction involves changing one number to a ten, hundred or thousand; carrying out the subtraction and then adjusting the answer to compensate for the original change.

For example:  For 17 – 9 , think: 17 – 10 = 7; but I subtracted one too many; so I add 1 to the answer to compensate to get 8 or 17 – 8 is 17 – 10 = 7 + 1 = 8.

Grade 5

Compensation

Note:  this strategy for addition involves changing one number to ten or hundred; carrying out the addition and then adjusting the answer to compensate for the original change.

For example: For 52 plus 39, think 52 plus 40 is 92, but I added 1 too many to take me to the next 10 (compensate – 39 to 40 ), so I subtract one from my answer, 92 to 91.

Compensation (Review section)

Note:  This strategy for subtraction involves changing one number to a ten, hundred or thousand; carrying out the subtraction and then adjusting the answer to compensate for the original change.  

For example: for 17 – 9, think 17 – 10, but I subtracted one too many; so I add 1 to the answer to compensate.

Compensation (New)

This strategy for multiplication involves changing one of the factors to a ten, hundred or thousand; carrying out the multiplication; and then adjusting the answer to compensate for the change that was made.  This strategy could be used when one of the factors is near ten, hundred or thousand.

For example: 6 x 39, think: 6 times 40 is 240, but this is six more than is should be because 1 more was put into each of the six groups; therefore, 240 subtract 6 is 234.

Grade 6 (See Extension)

Compensation

This strategy for multiplication involves changing one of the factors to a ten, hundred or thousand; carrying out the multiplication; and then adjusting the answer to compensate for the change that was made.  This strategy could be carried out when one of the factors is near ten, hundred or thousand.  For 6 x $4.98, think: 6 times 5 dollars less 6 x 2 cents, therefore $30 subtract $0.12 which is $29.88.  The same strategy applies to decimals.  This strategy works well with 8’s and 9’s.

Compensation

This strategy for division involves increasing the dividend to an easy multiple of ten, hundred, or thousand to get the quotient for that dividend, and then adjusting the quotient  to compensate for the increase.  For example: for 348 divided by 6 is 60 but that is 12 too much; so each of the 6 groups will need to be reduced by 2, so the quotient is 58.

